> restart;

{} with(LinearAlgebra):

> m:=4;
m:= 4
> A:=Matrix([[0,01,[1/3,1/311);
0 0
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K b:=Vector([1/4,3/4]);
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_> c:=Vector([0,2/3]);
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_$ n:=Dimension(b);
n:.=2

> onesvector:=Vector(n,1);
fxi:=Vector([seq(f(t+c[i]l*h,xi[i]),i=1..n)1);
xirhs:=y(t)*onesvector+h*Multiply(A, fxi);

1
onesvector := [ ]
1

it &)

2
f(t+§h,§2j

V(1)

Xirhs :=
1 1 2
— L&)+ =fl t+ = h,
)/(l‘)+h{3f §1+3!{ *t g isz

(> T:=y(t+h)-y(t)-h*Multiply(Transpose(b), fxi);



for j from 1 to m-1
do

T:=subs(xi=xirhs,T);
od:

T:= y(t+ h) - (1) - [ f(t§1)+zf(t+§h,§2jJ

> S:=series(T,h,m);
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> eq[1]:=D(t->y(t)) (V)=F(t,y(t));
eq; = D(y)(D) = f(t, Y(1)

_} for j from 1 to m-2
do

eq[j+1]:=simplify(subs(seq(eq[i],i=1..3j),DCunapply(Ceq[jl,t)) (1)));
od;

edy = D20 = Dy (A& Y1) + Dol WD) AL, YD)

eds = D00 = Dy (AL Y(0) + 2 Dy H(AE YO) fit, W0) + f(t W0) Dy, (L W0)

+ Do(N(, YD) Dy(A(G MO) + DolF(E, Y0)° AL, YD)

_> simplify(subs(seq(eq[i],i=1..m-1),S));
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